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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52

Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897139
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2549896425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The utility used to increase the speed of programs on Windows OS is called:
Options :

1. % Disk Defragmenter

2. % Disk Cleanup

3. & Disk Formatter

4. % Disk Analyser

Question Number : 1 Question Id : 2549896425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ISt 3T (windows OS) TR WIITH Bt T &Y IgT & fIe IudhT &t o aTeht gfeferdt & o &gl Srdn 82
Options :

1. v & felhmieR

2. % &% w93

3. ® &% WA

4. % 5% TAATEOR

Question Number : 2 Question Id : 2549897360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following is famously known as creator of the programming language PHP?
Options :

1. % Dennis Ritchie

2. % Bjarne Stroustrup

3. & Guido van Rossum

4. % Rasmus Lerdorf

Question Number : 2 Question Id : 2549897360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrofied & § fosdl TIenfET WSt pHP & FHfar & & & ST o 82
Options :

1. ® S Re=t (Dennis Ritchie)

2, = Eﬁiﬁ@@ (Bjarne Stroustrup)

3. % T3S a:fw (Guido van Rossum)
4. YA WRSIh (Rasmus Lerdorf)
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Question Number : 3 Question Id : 2549898417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2013 ﬁ, DI 1 G fgue faavor (binomial distribution) T JUINT FReh Teh URI&UT & URUMH &I SHTGAT <l %?
Options :

1. % BINOM.DIST haRIH

2. % BINOM.DIST.RANGE haRH

3. & PBINOM.DIST BaR

4. % PBINOM.DIST.RANGE WhaRH

Question Number : 3 Question Id : 2549898417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function returns the probability of a trial result using a binomial distribution in MS-Excel 2013?
Options :

1. % BINOM.DIST function

2. % BINOM.DIST.RANGE function

3. & PBINOM.DIST function

4. %= PBINOM.DIST.RANGE function

Question Number : 4 Question Id : 2549899319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a toggle key?
Options :

1. % Control

2. % Scroll Lock

3. % Num Lock

4. % Caps Lock

Question Number : 4 Question Id : 2549899319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P A § Y P R T T A T D
Options :

1. ¥ deid

2. % TPl Al

3. ® FH b

4. % PHAD

Question Number : 5 Question Id : 25498920603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TE HTT ST e JHS 3R FAfed HR Tavdl §, 71 Hadd 8?2
Options :

1. TR S7dT Sg-RT HIoT

2. ® UiiohRH QUeddR

3. % ey g

4, ® I TR HTOT

Question Number : 5 Question Id : 25498920603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

The language that a computer can understand and execute is called:
Options :

1. % machine or binary language

2. % application software

3. % system program

4. % high level language

Question Number : 6 Question Id : 25498920669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ettt & HgeR TR &t Wis fobet & A7t Siret ot
Options :

1. % ficide

2. % AEhDS

3. ¥ NG S

4. % UpNHS

Question Number : 6 Question Id : 25498920669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The processor speed of third generation computers was measured in:
Options :

1. *= millisecond

2. % microsecond

3. % nanosecond

4. % picosecond

Question Number : 7 Question Id : 25498924752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR (UNIX) H ‘who® HHIS T T IUUNT 82
Options :

1.+ UM ® A3 STARTEHars ot gt §=
2. % SEREC gl

3. % BTsd UGRId &1

4. % U 9T § TP BId & Ul & Ueiid BT

Question Number : 7 Question Id : 25498924752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the use of the ‘who’ command in Unix?
Options :

1. % Lists the users currently logged in

2. % Removes a directory

3. & Displays a file

4. % Displays one file page at a time

Question Number : 8 Question Id : 25498929734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 ¥ Y B ROM; BTS-a0S fSarsd 81 & fForgd Ser a1 e &1 Ue Je ugd I Wiy fhar a1 giar 82
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Options :
1. %" HIX&S ROM
2. % PROM
3. % EPROM
4. % EEPROM

Question Number : 8 Question Id : 25498929734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following ROMs is a hard-wired device that contains a pre-programmed set of data or instructions?
Options :

1. % Masked ROM

2. %= PROM

3. % EPROM

4. %= EEPROM

Question Number : 9 Question Id : 25498929895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, the last two options in the line and spacing paragraph drop down menu are spacing options.
Options :

1. ® predefined line

2. % customised line

3. % paragraph

4. % column

Question Number : 9 Question Id : 25498929895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 ®, T3 3R WRAT WRAME 310 S8 A H 3ifow Y fawey R fawed €|
Options :

1. ﬁﬁﬂ%m(predeﬁned line)

2. ® Wﬁ‘ﬁf IR (customised line)

3.% 3@%?{ (paragraph)

4. ® HIaH (column)

Question Number : 10 Question Id : 25498929977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Biometric devices provide the best mechanism for:
Options :

1. % access control

2. % antivirus protection

3. % data encryption

4. % e-mail security

Question Number : 10 Question Id : 25498929977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IRfeE IUBRT ¥ for gafH deb-iie UeH BT 8|

Options :

1.+ TR dgid
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2. # UCIARRY UIcaRM
3. ® S UPRH
4. % 309 Ry

Question Number : 11 Question Id : 25498931269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TERAIE W HINE A & F S 11 Tatia Wi o4-fae 818 wie 99 UgH avdl 82
Options :

1. ® ISA

2. % PCI

3. % PClI express 1.0

4. % AGP

Question Number : 11 Question Id : 25498931269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following expansion slots on the motherboard provides 64-bit high speed bus?
Options :

1. % ISA

2. % PCI

3. % PCI express 1.0

4. & AGP

Question Number : 12 Question Id : 25498931333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is Binary equivalent of the given decimal number?

(23)10

Options :
1. = 11110
2. % 11011
3. ® 11101
4. % 10111

Question Number : 12 Question Id : 25498931333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fau U 3T Tem & fg Ul gHee R R

(23)10

Options :
1. % 11110
2. % 11011
3. ® 11101
4. % 10111

Question Number : 13 Question Id : 25498933057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafafad & 9 P14 91 Ue U1 37Ye SUSHRUI & Sl fob il SUTNTeh« b1 Ueh =1y U Sl 2reiiepT (RT3 e¥) & HIegH 9, 814 4 Sip
I UHR BT, THARM SR Wihad 991 & el o1 &, o TR T afad STt W URa 9 sfaal 9-mar g2
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Options :
1.+ fSforerser
2. 5D
3. & §H-US
4. % U2

Question Number : 13 Question Id : 25498933057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an input device that enables a user to hand-draw images, animations and graphics, with a special pen-like
stylus, similar to the way a person draws images with a pencil and paper?

Options :

1. % Digitizer
2. % Puck

3. % Book-pad
4. % Pantograph

Question Number : 14 Question Id : 25498933184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is/are composed of Os and 1s only?
Options :

1. % Hexadecimal

2. % Decimal

3. %" Binary

4. % Both hexadecimal and decimal

Question Number : 14 Question Id : 25498933184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Y B T H Hae 0 3R 1 9T /P
Options :

1. % ISRy

2. & SRy

3. % SIgRI

4. % FRITSRIA 3R SRWA A

Question Number : 15 Question Id : 25498933941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which multi-touch gesture is used on a touchscreen device to enlarge something on the screen?
Options :

1. % Pinch In

2. % Two finger scroll

3. & Clicking the enlarge button

4. % Double flick

Question Number : 15 Question Id : 25498933941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁ@ﬁ?%ﬁ@ﬁ%ﬁﬁﬁﬁ%%ﬁﬁﬁﬁmnﬁ-ﬁﬁw (multi-touch gestures) WWWW%"

Options :
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1. ¥ fUaga

2. % g1 J7feral § ®hId
3. % TSl 9o IR fadd
4. ® S99 fUa®

Question Number : 16 Question Id : 2549898803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following topologies is used to connect all the computers in a network using a single cable?
Options :

1. % Bus

2. % Star

3. % Ring

4. % Hybrid

Question Number : 16 Question Id : 2549898803 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$a T had BT ST BR Gt ST Bl Siig & g i Aavaroh o1 Uz fobar wirdr 82
Options :

1. &dd

2. % R

3. % far

4. % gI3fos

Question Number : 17 Question Id : 2549899481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to measure the output quality of a printer?
Options :

1. ® Pixels per inch

2. % Pixels per frame

3. % Aspect ratio

4. % Dot per inch

Question Number : 17 Question Id : 2549899481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fifex @t 313eye Tura ATun & fore g &  fargest Sui fasan Sirar 82
Options :

1. % Ufd $9 fuea

2. % Ufd e U

3. ® JROEE U

4. ¥ UldgaSIe

Question Number : 18 Question Id : 2549899493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is a page orientation in MS-Word?
Options :

1. %= The page size

2. % The direction in which a document is displayed
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3. & The page layout
4. % The page finishing

Question Number : 18 Question Id : 2549899493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word &1 U9 SR 4 # 3 {5 g1 91 52
Options :

1. % U9 & 3R

2.+ U UaRid g9 &1 fg=m

3. % U9 o3

4. % Uyl fiFAfRIT

Question Number : 19 Question Id : 2549899600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of the file system NTFS?
Options :

1. % Network Technology File System

2. % New Transitive File System

3. % New Technology File System

4. % Novel Technology File System

Question Number : 19 Question Id : 2549899600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

wIsd Red & T & NTFS &1 quliey Fa1 82

Options :

1. % g A Hed Red (Network Technology File System)
2. & qaﬁlﬁa pred Ry (New Transitive File System)

3.9 qéa:ﬁﬁ\—:ﬁ pred ey (New Technology File System)

4. % a9 CHIdI BT RIEH (Novel Technology File System)

Question Number : 20 Question Id : 2549899628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following steps must you take to cancel printing jobs in the Windows OS?
Options :

1. % Shut down your printer.

2. % Disconnect your printer from the computer (unplug data cable).

3. % In Active Printers dialog box, right-click on the print job and select the Cancel option.

4. % Send the 'pause' command from your computer to the printer.

Question Number : 20 Question Id : 2549899628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
WindowsOSﬁ,ﬁﬁ‘TWﬂﬁW%ﬁﬁmmﬁaaﬂTﬁ?

Options :

1. # 30 flicx &l Yeee— Hill

2. % 30 flick & SR ¥ fewdmide B (STl Had AR TXb)

3. v Ufged fiied s diag ¥, fiie o IR I5e fFae S 3R HRid ey &1 70 B39
4. % A HYLR Y fiiex BI aier HATS Yol
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Question Number : 21 Question Id : 25498911110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If your router is unable to send/discard datagram, then which of the following error messages is sent?
Options :

1. % Destination is unreachable

2. # Destination is unverified

3. % Destination is unavailable

4. % Destination is out of coverage

Question Number : 21 Question Id : 25498911110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& BT IIR ST Wor H 3w 8 1 ST ! feTaTe o <l &, al g & I & I TR 79w yeRid giar g?
Options :

1. % Destination is unreachable

2. % Destination is unverified

3. % Destination is unavailable

4. % Destination is out of coverage

Question Number : 22 Question Id : 25498911262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to signal transmission, in amplifier basically implies the variation in the waveform received at the output
with respect to the applied input.

Options :

1. ® inefficiency
2. % fault

3. % distortion

4. % damage

Question Number : 22 Question Id : 25498911262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Reoret ghafie & e #, grudierR # I AT 37Ye & e B 33Ty IR UK aeRey § fFar 3 g
Options :

1. % H&HdT

2. % QN

3. ¢ fauo

4. & Jp Y

Question Number : 23 Question Id : 25498911273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the encoding of information in a carrier wave by changing the instantaneous frequency of the wave?
Options :

1. % Phase modulation

2. %= Amplitude modulation

3. % Frequency modulation

4. % Quadrature modulation

Question Number : 23 Question Id : 25498911273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
forht a¥m @t areiore saft H uRad= R aTgd a3 H YeT &1 Heaa (encoding) FEfiRad  § o1 wgamar g2
Options :
1. % Yot HfSRT
2. % 3T HISQIRH
3. % AT HISIIRH
4. % SAH T AR

Question Number : 24 Question Id : 25498913481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to file formats, what is the full form of EPS?
Options :

1. % Encapsulated PostScript file

2. % Enhanced PostScript file

3. % Enumerated PostScript file

4. %= Entitled PostScript file

Question Number : 24 Question Id : 25498913481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WIsd WiHe & e & Eps &1 quley aar 82

Options :

1. %" Encapsulated PostScript file (W%g tﬁm BIgd)
2. % Enhanced PostScript file (3_"1%.@ W EJEN))

3. % Enumerated PostScript file (Eﬂﬂ@g URefehy BIgd)

4. ¥ Entitled PostScript file (3CT3Ct8 URCIGHY HISd)

Question Number : 25 Question Id : 25498913780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In cryptographic algorithms, anyone intercepting the encrypted message will .
Options :

1. % see the actual data

2. % see random data

3. % see the plain text

4. % gee the decrypted text

Question Number : 25 Question Id : 25498913780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forprthes Tafem B ufpoe 0ud & off ot sravg demag |
Options :

|. ® JRAfd® STl g

2. ¥ HTEMD ST QT

3. ® WIF CRE q@T

4. % fqpIfed CoRe G

Question Number : 26 Question Id : 25498918502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following does NOT belong to the Editing group within the Home tab in MS-Word 2019?
Options :
1. % Find
2. % Paste
3. & Replace
4. % Select

Question Number : 26 Question Id : 25498918502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 & ¥ fraeT Yay MS-Word 2019 % B ¢d & TSR u d gt 32
Options :

I. ¥ BI3S

2. ¥ UK

3. % Jwg

4. % Yoo

Question Number : 27 Question Id : 25498918529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following has functionality specific to handling the demands of talking to and controlling peripheral devices in a computer
system?

Options :

1. ® Process scheduler

2. % File system

3. % Disk controller

4. % 1/O controller

Question Number : 27 Question Id : 25498918529 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hugex Ry #1 a8 SrfdDd R Head 8 S {9y T ¥ IR fSargdl J Targ @) 7l o i e g2
Options :

1. % QY ISR

2. % I3 Red

3. % f&% dhoer

4. % 1/0 Pl

Question Number : 28 Question Id : 25498924009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following formats CANNOT be used as desktop background in Windows OS?
Options :

I. * jpg

2. % png

3. % docx

4. & dib

Question Number : 28 Question Id : 25498924009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows OS &1 S%held gBYH & fore g & § {5 witfe &1 IuanT -1g] far o wed 82
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Options :
1. % jpg
2. %= png
3. % docx
4. % dib

Question Number : 29 Question Id : 25498924035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To which places on the screen can the task bar be repositioned in Windows 10?
Options :

1. *= Bottom and left

2. % Left, right and top

3. % Left, right, top and bottom

4. % Top and bottom

Question Number : 29 Question Id : 25498924035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 10 H TR TR P Bh1- W o oTel IR S fopa o wehall 52
Options :

1. & F9 iR ame

2. % 9T, T, 3R S

3. % 91U, TSI IR A

4. & FW IR

Question Number : 30 Question Id : 25498924299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to the execution of multiple jobs by a CPU simultaneously by switching between them?
Options :

1. ® Interactivity

2. % Spooling

3. % Batch processing

4. % Multitasking

Question Number : 30 Question Id : 25498924299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

99§ 3 a1 CPU gRI S o1 Raa FXh U 1Y Fs BT & (TG Bl Haftid Bl o7
Options :

1. % geRfdefact

2. % I

3. % o9 UNIRIT

4. o ASICTRDT

Question Number : 31 Question Id : 2549896770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A homepage is:
Options :

1. ® where all internet data is stored.
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2. % a page which is always dynamic.
3. %" the first page of any website.

4. % required to delete flies.

Question Number : 31 Question Id : 2549896770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BIUS &1 52

Options :

1. % S8l 9t UPR & e SeT TR fFa S B

2. & U U1 Ul off gaR fasiid @ 5|

3.+ a1 deTS e 1 uge US|

4. % B1gdl &I fSelle B F foIU 391 Saxaesar gial |

Question Number : 32 Question Id : 2549897210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fofafed & 3 &1 € te $7ye fSarsa &2
Options :

1. % Wi

2. % HIFR

3. ¥ W

4. % U

Question Number : 32 Question Id : 2549897210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is an input device?
Options :

1. %= Speaker

2. % Monitor

3. % Scanner

4. % Printer

Question Number : 33 Question Id : 2549897457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When you want to move or copy a text between two locations, is used.
Options :

1. % Move To

2. % Copy

3. % Clipboard

4. % Find and Replace

Question Number : 33 Question Id : 2549897457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
F 31U & VM & S SRe DI RN T HI4t H1 A18d &, af BT IYANT fHaT S 8l

Options :

. ®7qdg
2. % PHIAt
3.+ faauers

14/38



20/03/2023, 11:03
4. % BI3S Us ey

Question Number : 34 Question Id : 2549897934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2 Peta Byte =

Options :

1. % 2048 TB

2. % 2048 GB

3. % 2048 MB

4. % 2048 KB

Question Number : 34 Question Id : 2549897934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2 YT aTEe =

Options :

1. % 2048 TB

2. % 2048 GB

3. % 2048 MB

4. % 2048 KB

Question Number : 35 Question Id : 2549899199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an internet term?
Options :

1. ® Search engine

2. % Browser

3. % Hyperlink

4. % SMPS

Question Number : 35 Question Id : 2549899199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FrafRad & 9 19 A Weg exe I Heifld 8 82
Options :

1. % §d g5

2. ® 93w}

3. % gEWID

4. % SMPS

Question Number : 36 Question Id : 25498910502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word SIFIHE TR HTH Hd JHY, T8 YA H & e fob 2oa Ia & a1eg forem & SR Ui eg, F1 USAT 31eR TST
(capital) T g, 39 ford 9 I 9 oy Jdhaie f[aded &1 g1 g

Options :

1. ® Correct TWo INitial CApitals

2. % Capitalize first letter of sentences

3. % Capitalize first letter of table cells

4. = Capitalize names of days
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Question Number : 36 Question Id : 25498910502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While working on a Microsoft Word document, to make sure that every first letter of a table cell will NOT be capitalised in a sentence,
which of the following checkbox options has to be cleared?

Options :

1. ® Correct TWo INitial CApitals

2. % Capitalize first letter of sentences
3. % Capitalize first letter of table cells

4. % Capitalize names of days

Question Number : 37 Question Id : 25498910543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which margin style gives one inch empty space on the top and bottom, and 0.75 inch of empty space on the left and right sides, of a page
in a Microsoft Word document?

Options :

1. % Normal
2. % Moderate
3. % Narrow
4. % Mirrored

Question Number : 37 Question Id : 25498910543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ASHITTR IS STRgHT & DI I HIfoH WRd Ul IR W 3R F14 T $9 3R fFRI W 0.75 §9 Rad RIM dar g?
Options :

1. % Trfa

2. ¥ HISE

3. % R

4. % RS

Question Number : 38 Question Id : 25498910576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ERDPIGEAD AT, B 3R R A S B 9 B |
Options :

1. % d3M3C

2. %

3. % feorsA

4. % U9 Q33T

Question Number : 38 Question Id : 25498910576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To see the Rulers, choose and select the Ruler check box.
Options :

1. % Layout

2. % View

3. % Design

4. % Page Layout
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Question Number : 39 Question Id : 25498910599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There is/ are option(s) in the drop down menu of the Special option in Indentation control in the Paragraph tab.
Options :

1. %1

2. % 2

3.%3

4. % 4

Question Number : 39 Question Id : 25498910599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IREE 29§32 held & fa9y fadbed & g1 SIe= A & fadey T g 8|
Options :

1. %1

2.%2

3.%3

4. %4

Question Number : 40 Question Id : 25498910721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
port transfers large amount of data at very fast speed.
Options :
1. % Firewire
2. % Ethernet
3. ® PS2
4. % USB

Question Number : 40 Question Id : 25498910721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TI¢ §gd aol TIfa (@ie) | 9 AT & SeT WHidRd BT 31
Options :
1. %" ThTIRARR
2. % 3YAT
3. ® PS2
4. = USB

Question Number : 41 Question Id : 25498911503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word STHIHC H, 57§ 3110 i 'SR1eR &1 fog' (=) TRU HRA 8, a T graera g

Options :

1. % U ¥@l

2. % e At @l
3. Qg Xl
4. % T g

Question Number : 41 Question Id : 25498911503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
In a Microsoft Word document, when you type three "equal to" signs, you get a
Options :
1. ® single line
2. % bold single line
3. % double line
4. % heavy dotted line

Question Number : 42 Question Id : 25498911880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The feature has to be marked with a check mark under Show Markup to display comments.
Options :

1. % Comments

2. % Ink

3. & Insertions and Deletions

4. % Markup Area Highlight

Question Number : 42 Question Id : 25498911880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHCIA B UERAIRAF AT WIR &I Ah3U & 3faia I AT & A1y fafga fosan s =nfzuy
Options :

1. ¥ HHcH

2. B3P

3. % SR SR fefizm

4. % HIhY TR g3 IISEe

Question Number : 43 Question Id : 25498911946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31&R} Y o I P oY IfpTs B Fufiad §  frg teif$T Ren o1 Iuav fovar Sirar 82
Options :

1. % UTF-8

2. % UTF-10

3. % UTF-28

4. % UTF-48

Question Number : 43 Question Id : 25498911946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Unicode encoding system to represent characters?
Options :

1. % UTF-8

2. % UTF-10

3. % UTF-28

4. & UTF-48

Question Number : 44 Question Id : 25498912490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which keyboard shortcut among the following is used for opening the shortcut menu for the active window?
Options :
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1. % Alt + Enter

2. % Alt + Left Arrow
3. % Alt + Spacebar
4, % Alt + Page Up

Question Number : 44 Question Id : 25498912490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wﬁ@ﬁ(Active window) %WW%W%mmﬁ@ﬁQWWWWWW%V
Options :

1. % Alt + Enter

2. & Alt+ Left Arrow

3. %" Alt + Spacebar

4. % Alt+ Page Up

Question Number : 45 Question Id : 25498919195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The second step in the process of mail merge is
Options :

1. % select the starting document

2. % gelect recipients

3. % select document type

4. % create

Question Number : 45 Question Id : 25498919195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁﬂﬂﬁ(merge)ﬁmﬁwawwmm%?
Options :

1. v TR SIagHT BT 9 B

2. & YTIdHarstt &1 gg- Bl

3. % SlagHc & UYHR &I 99

4. % fopue

Question Number : 46 Question Id : 25498920668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HISHINIUE Word 2016 B gaic ATgsk! H $IF I fdded Ugd UGHRId fodT STl 62
Options :

1. % None

2. %= Circle

3. % Disc

4. % Square

Question Number : 46 Question Id : 25498920668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which option is displayed first in the bullet library of Microsoft Word 2016?
Options :

1. % None

2. & Circle
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3. % Disc

4. % Square

Question Number : 47 Question Id : 25498920688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following is an inventor of the Computer Mouse?
Options :

1. % Stephen Covey

2. % Paul Allen

3. % Douglas Engelbart

4. = E Sreedharan

Question Number : 47 Question Id : 25498920688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafed & ¥ HH $eR 113y &1 fawR® 82
Options :

1. % W% Pla (Stephen Covey)

2. & q}llaqa:f (Paul Allen)

3.« By Qﬁﬂ_@l'l?f (Douglas Engelbart)

4, = é e (E Sreedharan)

Question Number : 48 Question Id : 25498925306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T BT3d AN §iag H, fShice U Y WeH & ot 5T UeR & Wisd &1 9a- a1 sdr g2
Options :

1. % gy wrgdl

2. % gt R wrgdl

3.« T OIS IIITe IS STagHcH

4. % HId RS SIRHSH

Question Number : 48 Question Id : 25498925306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the Open File dialogue box, which types of files are selected to open by default?
Options :

1. & All files

2. % All picture files

3. %" All Microsoft Word documents

4. % Only text documents

Question Number : 49 Question Id : 25498925341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Page orientation will affect only the
Options :

1. % height and width of the page

2. & font style

3. %= font size

4. % font colour
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Question Number : 49 Question Id : 25498925341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

US SINUCRA had I UHTfad S|
Options :

1.+ UG Bt SaTs 3R AISTS

2. % i< & XA

3. % I & 3MHR

4, % Bl B T

Question Number : 50 Question Id : 25498925489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How will you convert a Word file into a Notepad file?

Options :

1. % Open Save dialogue box — Save file with extension .doc

2. % Open file in Notepad

3. % Open Save As dialogue box — Select File type as Plain Text — Save file
4. % Open Save As dialogue box — Click on File type — Click on Notepad

Question Number : 50 Question Id : 25498925489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 T8 1A Pl Aeds Bed H »a uRafdd B

Options :

1. % YJ SN I Wil —>WBTgel Bl .doc THRICH & 1Y Y Y

2. % B3d Pl Aicds | @idt

3. " U4 TS SIS Ticl —> BIsd Bl W CRE & U H I X —>WHIed bl Yd B
4. % 49 TS SIHANT J19 Bl —> BTed B UHR W [Gad B —> Ale U WR foad dY

Question Number : 51 Question Id : 25498925508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
IR 3R I9 f&pe fras e 82
Options :

1. % TREI% U

2. ¥ i< U

3. % KA YU

4. ® faquars

Question Number : 51 Question Id : 25498925508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Super and Subscripts are part of:
Options :

1. ® the Paragraph group

2. % the Font group

3. % the Styles group

4. % the Clipboard

Question Number : 52 Question Id : 25498933762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

21/38



20/03/2023, 11:03

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

FTP is used for file

Options :

1. % sharing

2. % editing

3. % creation

4. ® saving

Question Number : 52 Question Id : 25498933762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BIRA®D! & [ FTP &1 SUINT foba SiTat g
Options :

1.« IR

2. % Tfefe

3. % fobuRm

4. % Qi

READING COMPREHENSION

Section Id : 2549897099
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897140
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921211 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction
Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

The Olympic Games are unique. Athletes from the entire world take part. Their achievements are watched by hundreds of millions of
spectators. It is the largest sporting celebration in terms of the number of events on the programme, the number of athletes present and
the number of people from different nations who gather together at the same time in the same place.

The five different-coloured inter-locking rings on the Olympic flag represent the international nature of the Games. They symbolise the
five continents: Africa, Asia, Australia, Europe, and North and South America.

The modern Olympics were started by a Frenchman called Baron Pierre de Coubertin. In 1896, the modern Olympic Games were started
in Athens with great fanfare. Athletes from twelve different nations took part in these games. The events included athletics, gymnastics,
cycling, fencing, lawn tennis, shooting, swimming, weight-lifting and wrestling. Since then, many more events have been added to the
Olympic Games.

The Olympic Games are held every four years. They include the Summer Games and the Winter Games. The first edition of the modern
Summer Games was held in 1896 in Athens (Greece), and the first Olympic Winter Games in 1924 in Chamonix (France). Winter games
are organised in a winter resort two years after the summer games. In the Summer Games, athletes compete in a wide variety of
competitions on the track, on the road, on grass, in the water, on the water, in the open air and indoors — in a total of 28 sports. The
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Winter Games feature seven sports practiced on snow and ice, both — indoors and outdoors.

The purpose of the Olympic Movement is to promote the practice of sport all over the world and disseminate the Olympic values. Baron
Pierre de Coubertin said, “The important thing in the Olympic Games is not winning, but taking part. The essential part in life is not
conquering but fighting well.” It is in this spirit that the Olympic Games are held and celebrated. Even today there are no cash prizes at
the Olympic Games. The winners are awarded medals of gold, silver and bronze.

Sub questions

Question Number : 53 Question Id : 25498921212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Olympic games are unique because:

Options :

1. % it is held every four years

2. % it is the largest sporting event in the world

3. % it consists of Summer Games and Winter Games

4. % the winners get medals of gold, silver and bronze

Question Number : 54 Question Id : 25498921213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following indicates the international nature of the Olympic Games?
Options :

1. # A large number of athletes take part in the games.

2. % A large number of spectators watch the Games.

3. %" There are five inter-locking rings present on the Games’ flag.

4. % The Summer and Winter Games are held in different countries.

Question Number : 55 Question Id : 25498921214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following events was NOT included in the first modern Olympic Games?
Options :

1. % Cycling

2. % Weight-lifting

3. % Shooting

4. " Skiing

Question Number : 56 Question Id : 25498921215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the Winter Olympics is true?
Options :

1. % Winter Olympics are held along with Summer Olympics.

2. % The first Winter Olympics was held in 1896.

3. % The Winter Olympics is held in a winter resort.

4. *= There are 28 events in the Winter Olympics.

Question Number : 57 Question Id : 25498921216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The on the Olympic flag symbolise that the world is one.
Options :

1. ® five rings on the flag

2. *= five different- coloured rings.
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3. % five continents of the world

4. % five inter-locking rings.

Question Id : 25498921211 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

3T T T ®1 U¢ SIR I YR W Ui & IW S|
it W 30 W UfaaifIaret I 9gd ST gid & | O3 g+ & TYdiie S8 HIT A & | 1l aRids 31! Suaferdl & areft
9 8 | 9 B! Uil ot TRedn, SH YT AR aTal Tueiel ol e iR faftm 30 & o U Nl & U S gHg W U &
R R THF g & 8 I I8 T 981 Ve S04 & ST 8 | 3N o] UR Ui S{ehT-3TRT I & SeR-alfp T Seal Wall bl
SIRRTPIG Tepial b Ui B & | A Ui HETedl: SfvbiepT, U, sifeferan, gRiu, iR Swt quT afér 3R & Udle ¢ |
wwm@ﬁﬁ%&nﬁuﬂ%éﬂm@mﬁﬂmﬁﬂ@m 1896 MY 3Nl Tal &I T T 9gd yHu™
ﬁw%mwwsq@ﬁﬁwﬁruaﬂ@%m?ﬁa%%wmwﬁahwa?ﬁﬁwﬁﬁw forTRe e, ArsfoferT,
TEAARETE, T 2, ST, AR, YRR iR prdl e &1 S0 16 § S Qel 3 w8 oIk wfreasit s e ¥
W@EWWWﬁWﬁHWGﬁ%IEﬁM@TW@EW%IWWM@@W
gl ST 1896 H TIT (M) H 3R fideTei= Tl BT Ugan Tl 1924 H SAa (W) & maiford favam mar T
Mﬁ%ﬁwwmﬁﬂﬁﬁm@ﬁwwmmélwwﬁqm H, TSP,
I IR, U, gﬁwﬁ?s@?ﬁ&mﬁaaﬁaﬁzsﬁw@amﬁ&hﬁwﬂmﬁaﬂﬁ%Qﬁﬂﬂﬂ?ﬂ?@a‘rﬁa‘r\sﬁ?m
TR A3, TSR 3R MTGTER & ISR F 7 Bl A B
N siaiea &1 Iexa T gfar H Wl & Jeral &A1 3R dfid &t Araarsi &1 TR &1 8 | ok R S agaféa 3 et
T, "3fieife Qe o Agayul ot ST ATal, YT A1 8 | 3R Sita &1 +ft 7€l 320 8T €, Toy %=1 7 b fhft &t g 39
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RIGHR 81 fean St &, afeds fastarsit o) wauf, I57a iR e ues! & TwTfAd farar srar 3|

Sub questions

Question Number : 53 Question Id : 25498921212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3N B frd BRI 37 B ufaegefa § g &2
Options :

1. % Y UAP IR A W AN 8Id §

2.+ I8 g1 T YaY 981 A IS o

3. % SO0 WS WA R b= I A §

4. % Y faoiarell o wul, I90d SR HIE Uedh Ue™ fod of1d §

Question Number : 54 Question Id : 25498921213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e B & 7 7 Wl 3 SiaRRT Ui Y = 3

Options :

1. % 3 QA H 9 T § vydie Ui o §

2. % TS U H P U WA ¢Ed

3.« Wl & @ol W (R Uid gex-alfdb T oo

4. % fafte <=1 7 Ao 1 arel FreAapTef= Wt $fR T W

Question Number : 55 Question Id : 25498921214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH YT Sicifte Wl & Fafafed & 3 o @ uforsf anfia 76t o
Options :

1. % grsfofe

2. % YR

3. % e
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4, ¥ IBIST

Question Number : 56 Question Id : 25498921215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt Siicifte Well & aR # FafaRed § 3 $IF 91 $3F 93 87
Options :

1. % Sqpre Siicifte, WS Siicfte & J1Y e fhT & 5|
2. % T MABIC D BT TS 1896 F G AT

3. v SaTe Siicifte faex Rl # smaferd fbe 9d &1

4. % BT D H 28 TRy 2nfia g |

Question Number : 57 Question Id : 25498921216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3t ol W) 78 euia 8 fb g us 31
Options :

1. % &9 R Ud oo

2. TS S{eHI-3{e 1T b Bt

3. % gaT & Ui HeTg

4. % Ui $cX AlfhT Bex

QUANTITATIVE APTITUDE
Section Id : 2549897100
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897141
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 58 Question Id : 25498914342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ToraaET woa & wod e (7) & FUH 99 SETHET #OT A HTUEN? (HI9ShT TUTH AT th STOTAT SR
T HEvTEaT R )

6578 + 87 % 15 =7 = §
Options :

.= 200

2.+ 250

3.0% 150
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4% 100

Question Number : 58 Question Id : 25498914342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What approximate value will come in place of the question mark (7) in the following expression?

{You are not expectad to caleulare the exact value)

6578+ 67y X 15 =7 X6
Options :
1. % 200
2. % 250
3. % 150
4. % 100

Question Number : 59 Question Id : 25498928819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When all the students in a school are made to stand in rows of 54, 30 such rows are formed. If the students are made to stand in rows of
45, how many such rows will be formed?

Options :
1. ® 25
2. % 42
3. % 306
4. % 32

Question Number : 59 Question Id : 25498928819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
d & It ST Y 30 Ufaaal H @1 HA W YAS Ufad o SET B T 54 Bl 31 Afe ude dfed o 45 S &l waT e S,
a1 UfckTal b1 we foait gt

Options :
1. & 29

2. % 42
3. ¢ 3B

4 ¥ 32

Question Number : 60 Question Id : 25498928889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of the angles of a quadrilateral is 3 : 4 : 6 : 7. Half the second largest angle of the quadrilateral is equal to the smaller angle of a
parallelogram. What is the value of the adjacent angle of the parallelogram?

Options :
1 #1367

2w 1267
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3. % 94

4, w 9067

Question Number : 60 Question Id : 25498928889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U TN & FI0 & 9 30 40 60 7 §) UgeS W gET WEd 8% S FAAG 9gHE & Bl
a:‘rnrﬁ:w% mﬂ—.ﬁ?#mmﬁu‘mmw%‘?

Options :
| % 136

5w 126
; % B4

4 % 96

Question Number : 61 Question Id : 25498928891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (7) in the following cxpression?

V225 %12 + V44l x 4 =
Options :
1. % 264
2. % 204
3. % 284
4. = 244

Question Number : 61 Question Id : 25498928891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
raiErEd e H v T @ & 24 9 gl S

V225 % 12+l x 4 -2
Options :
1. % 264
2. %204
3. %284
4, % 244

Question Number : 62 Question Id : 25498929098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the approximate value of the question mack (7) in the following expression:

7=="500h50 + b5+ 5
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Options :
1. % 340
2. % 450
3. %32
4. % 185

Question Number : 62 Question Id : 25498929098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT ET EEERT H WeAMES (7)) & BB 97 "9 " #97 g 9gT?

7= 50850 + 55 + 5
Options :

1= 340
o = 450
3. % 32

4.« 185

Question Number : 63 Question Id : 25498929663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Chie value of

dtanlkdtan2®wdtand = . x4dtanll®
(Can?¥s fand" s tana®x . Hoan 2091 - tan? 1931 - tan® 211 -tan® 39,01 tan? 10¢)

Options :
1. %512
2. %1024
3. %2048
4. % 4192

Question Number : 63 Question Id : 25498929663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

droanl"xdranZ*xdiani®= . xdian L0
ranttHiand e rangtx L stan? 00 - tan® 101 - tan® F01 -tant AL - tan® 10
L J ]

a5 HI-1 9 2T

Options :
1. #® 512

7 & 1024
3 # 2048

4 & 4192
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GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549897101
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897142
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 64 Question Id : 25498914082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Unscramble the letters in the words given in options, and find the odd one out.
Options :

1. % RNAI

2. # RIQA

3. ® AIRYS

4. % AAPJN

Question Number : 64 Question Id : 25498914082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faseul § faU 7T SreuafRyd 31aRT &l HafRUd IR Weg SHID ITH U ST Weg BT I Do |
Options :

1. %= RNAI

2. % RIQA

3. & AIRYS

4. % AAPJN

Question Number : 65 Question Id : 25498918996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the pair from among the options that will fill in the two blanks, respectively, to form a true and sensible sentence.

is to Most as Worst is to
Options :
1. % Much — Last
2. % More — Last
3. % Least — Best
4. % Many — Best

Question Number : 65 Question Id : 25498918996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1 fawedl § U 39 fadey &1 994 Sifoe foraw 4T U regi &1 49 a1 & SHER 38 ¥ I8 a1 YUl @ 91id 51 Sgm
o1 o I a8 Yoy § o Jae FApyan &r Izl
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Options :
1. % 3ifge - eifqw
2. % 3R offde — sifam
3. & TAqH - qaraH
4. & QRF — qarad

Question Number : 66 Question Id : 25498919675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number.

25:37::49:7?
Options :

1. % 41

2. & 56

3. % 60

4. % 65

Question Number : 66 Question Id : 25498919675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 & 9 39 fawey &1 997 Fifore S st e @ S TR il § o ThR guRt T ugd e § Hefid
25:37:49:?

Options :

1. = 41

2. % 56

3. % 60

4. % 65

Question Number : 67 Question Id : 25498919726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a cricket match, five batsmen A, B, C, D and E scored an average of 36 runs. D scored 5 more than E; E scored 8 fewer than A; B
scored as many as D and E combined, and B and C scored 107 between them. How many runs did E score?

Options :
1. % 62
2. %45
3. %28
4. % 20

Question Number : 67 Question Id : 25498919726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U fohdpe H |, TR SeaiamSil A, B, C, D IR E 36 P 3NGd YT TATI DA E F 537 31 S8, ET A ¥ 8 T HHTAT; BA D
3R E & $d 3! & SRI6R I §IY; 3R B 3R ¢ A AR 107 T 91| E A fore 3 §4102

Options :

1. % 62

2. % 45

3. ® 28

4. % 20

Question Number : 68 Question Id : 25498919819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :
1. ®= Tortoise
2. % Duck
3. & Crocodile
4. % Whale

Question Number : 68 Question Id : 25498919819 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faeedl 7 TR ez faT 7T § 96 ¥ i 5l g O THuHH § Sefe U SRITA § | 39 SfUTd sk &I Ugd Piforg|
Options :

1. % vl

2. % ddY9

3. & HIRH=Y

4. ¥ A

Question Number : 69 Question Id : 25498927373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the number of triangles in the given Opure.

Options :
1. %12
2.% 18
3.% 22
4, % 26

Question Number : 69 Question Id : 25498927373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=i fem e o o Pt & Hw i S

A

4

AN
/.’ oy «: -E-{;’; \

Options :
1. % 12
2.% 18
3.%22
4. % 26
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GENERAL AWARENESS
Section Id : 2549897102
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897143
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549899685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The concept of 'Garibi Hatao' was given in
Options :

1. % the Fourth Five-Year Plan

2. % the Fifth Five-Year Plan

3. & the Sixth Five-Year Plan

4. % the Seventh Five-Year Plan

Question Number : 70 Question Id : 2549899685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TRIaT getell B SayRoN oy daasa drer 3 Hefdd 52
Options :

1. % Treft gaadTg der

2. Uiadl dadia geT

3. % B3I Ugauy drer

4. % Gqdl GAauIg A1

Question Number : 71 Question Id : 25498912533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is biodegradable?
Options :

1. % Paper

2. % DDT

3. ® Aluminium

4. % Plastic

Question Number : 71 Question Id : 25498912533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fraffad & & o a1 v S Fefiexia @it 82

Options :
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1. & DI
2. % DDT
3. & TegHITH
4, & WIREH

Question Number : 72 Question Id : 25498912668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following inscriptions mentions Pulakeshin II’s military success against Harshavardhana?
Options :

1. % Allahabad Pillar inscription

2. %" Aihole inscription

3. & Damodarpur Copper-plate inscription

4. % Bilsad inscription

Question Number : 72 Question Id : 25498912668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gad ¥ g QabRA 1 B A Thdd &1 Iword Fefifad 7 Q o1 J Ramerd! § firear 82
Options :

1. % SABISTE & &Y Reerd

2. ¥ 3TSEId & IR

3. # EGIYR & aiyos Rieraa

4. % focHTe & 3o

Question Number : 73 Question Id : 25498912781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 65th National Football Championship (Santosh Trophy 2011) was won by:
Options :

1. % Manipur

2. % Goa

3. %" Bengal

4. % Punjab

Question Number : 73 Question Id : 25498912781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

6591 AP Besla ARG (@dy 2wt 2011) i S0 3 S o
Options :

1. % QR

2. % AT

3. % T

4. ® U9

Question Number : 74 Question Id : 25498932557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many types of emergencies are envisaged by the Constitution of India?
Options :

1. % One

2. % Two
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3. % Three

4. % Four

Question Number : 74 Question Id : 25498932557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR I § fhd= GhR & SHTUTAdTal BT Seerd o T g2
Options :

1. % Uh

2. K

3. % O

4. % 9R

Question Number : 75 Question Id : 25498935394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The digestion of fat in the intestine is aided by:
Options :

1. & diffusion

2. % peptisation

3. %" emulsification

4. % neutralisation

Question Number : 75 Question Id : 25498935394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 ® 39T & U & forg FaforiRad & 9 i <t foran wgTae il 62
Options :

1. % fouRur

2. & Ufpfaaor

3.« Uil

4. % IErHIB

English Mock
Group Number : 2
Group Id : 2549894505
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549897103
Section Number : 1
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Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897144
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498941117 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted
Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes

Show Back Space Count : Yes

English Actual

Group Number : 3
Group Id : 2549894506
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test
Section Id : 2549897104
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
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Sub-Section Id : 2549897145
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 77 Question Id : 25498938657 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None

In the technologically advanced world of present times digital marketing is the new way to promote and sell products. Compared
to traditional marketing it is very easily managed and simple to analyse and learn. Campaigns can almost immediately be
changed to do better and sell more. But due to data mining it has also become dangerous and more than a tool. It is almost as if
the customer can become the product due to information sold. As already mentioned today we live in a technologically advanced
world where anything is possible through the internet. Digital marketing functions and is possible only because of the internet
and nothing else. It is the core of what digital marketing is. In a society where we struggle with scarcity and rising prices digital
marketing is the way to turn that around. The internet is easily accessible by everyone in any part of the globe. It is no longer
only for a specific class of society. It is easier to connect with people and without even having to meet them. Digital marketing is
an advantage for businesses in this era. It is incredibly convenient for people to buy anything required from the internet without
taking a foot outside of their homes. It saves time and shows a person the various reviews people have left. A person can easily
compare prices on multiple websites and pick what is best suited to their needs. It is beneficial to those who are disabled and can
help them get their work done and live a life of independence. It also helps businesses themselves big or small. The traders can
advertise for less money or even for free if one knows how to do it well. Products can often go viral without any money being
invested in marketing. It helps small businesses majorly and helps them get traction. One main problem with digital marketing is
data mining. No rules or laws have been put in place to curb the buying of data of user. It is used to such an extent that it has
been said that the user has become a product. It is spoken as a conspiracy theory that we are being spied upon. But that is not far
from the truth. Former employees of various social networking platforms such as Google and Instagram etcetera have spoken of
how much data is stored by websites of users that use social media sites. This information is sold to marketers so they can target
specific audiences with their products. These sites are designed to keep the person coming back and engaging with the sites.
Almost like an addiction. Proof of this is how much the rates of online shopping increased during the lockdown. This means that
social media is unsafe and has become more than a tool. Digital marketing majorly helps all businesses big and small take off. It
is vital in this day and age and even helps with the employment problem. This form of marketing is how one can take advantage
of technology and further their business. But it is also crucial for users to be careful of what information is put out on the internet
to stay safe. There must be a balance of both and companies should be taxed on the amount of data they have.
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